“ & ===
% EFEHE alt ‘$ Vermenigvuldig decimalen met 10.100.1000

\|\|\|\

Naam: Datum: Score:
3,532 % 100 = 7,139 x 1000 =
5,554 % 100 = 1,729 x 10 =
2,459 x 10 = 4,65 % 10 =
2,402 x 100 = 3,59 % 10 =
10,397 x 100 = 3,158 x 100 =
1,578 x 100 = 2,344 x 100 =
3,607 x 1000 = 2,086 x 10 =
5,849 x 10 = 10, 812 x 1000 =
2,771 % 1000 = 2,535 % 100 =
5,524 % 1000 = 2,998 x 1000 =
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Naam: Datum: Score:
3,532 x 100 = 353.2 7,139 x 1000 = 7139
5,554 x 100 = 555.4 1,729 x 10 =17.29
2,459 x 10 = 24.59 4,65 x 10 =46.5
2,402 x 100 = 240.2 3,59 x10=359
10,397 x 100 = 1039.7 3,158 x 100 = 315.8
1,578 x 100 = 157.8 2,344 x 100 = 234.4
3,607 x 1000 = 3607 2,086 x 10 =20.86
5,849 x 10 = 58.49 10, 812 x 1000 = 10812
2,771 x 1000 = 2771 2,535 %100 = 253.5
5,524 x 1000 = 5524 2,998 x 1000 = 2998
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